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Practice Questions- Appropriation of profit

Q.1. Faiz , Faraz and Shakir are partners in FFS Supermarket. They are running this business since

last 15 years. Their profit-sharing ratio is 1:2:3 and capital in their account on 1-1-2015 was
100,000; 200,000 and 300,000 respectively.

During the year 2015 following changes in capital have occurred:

1. On 1-1-2015, Faiz introduced further capital of Rs. 50,000.

2.  On 30-6-2015, Faiz withdrew Rs. 30,000.

3. Faraz withdre 10,000 at the beginning of each month.

4. On 1-9-2015, Vréi-’%rintroduced Rs. 65,000 and from that date his interest on capital
has increased from 10% to 15%.



